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x f(x)=0
- y=1(X) X
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A B
1 |x y
2 -10/=A2"2-2_|[
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1 |x y
2 | ~10] 08
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. X
[, b]

. c=(ath)/2
la,c]C ). [c,b]C )

[a, b]
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[ ] [a, b] f?
L f(a)f(b)<0 T b
\,/ 1 (@)
c=(ath)/2
(1) [a, c] - f@)f()<0
(2) [c, b] L () f(b) <O
(1) b:=c,a

(2) a:=cb



Excel IF

=IF(

()
()

a =IF(f(a) *f(c) <0, a, ¢)
b =IF(f(c) *f(b) <0, Db, c)
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2. ¢, f(a),fb),f(c)

] Microsoft Excel — midpoint
] FpME REE FLRW HAQ FROQ) w-D F-ROD SoE0W AJHH Adobe PDFE)

| FRRET = IOV IS [ < WO THE LN N OO 0 3 4 1 [ i - Y _ (R B 7B 2 b=
neel
! WARF ¥ XV A& =(pa+B4)/2
A B C D E F
1 x2-2=0
3 |a b c f(a) (b) f(e) |
4 0 10|=(A4+B4)/2 | 98 23
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3. (1)
A | B F
1 [x"2-2=0
e
3 |a b c f(a) f(b) f(c)
4 | 0] 10 5 -2 98 23
5 |=IF(D4%F4<0,A4,C4) 2.5 -2 23 425
4, (2)
b c T
)| 10] 5,
)|=IF(E4%F4<0,B4.C4)
5. ¢ f(c)
a b c f(a) f(b) f(c)
0 5 -2 08 23
0 2.5 -2 23 4.25
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6. a.b.c A | B | ¢ | D E F
1 1 [x"2-2=0

2 !
3 a b c f(a) f(b) flc)
4 0 10 5 -2 98 23
5 0 5 2.5 -2 23 4.25
6 0 2.5 1.25 -2 425 -04375
7 1.25 25 1875 -0.4375 425 1515625
8 1.25 1.875 (5625 -04375 1515625 0.4414063
9 .25 15625  1.40625 -0.4375 0.4414063 -0.022461
10| 140625 15625 1.484375 -0.022461 0.4414063 0.2033691
11| 140625 1484375 1.4453125 —0.022461 0.2033691 0.0889282
12| 1.40625 14453125 14257813 -0.022461 00889282 0.0328522
13| 1.40625 14257813 1.4160156 -0.022461 0.0328522 0.0051003
14| 140625 1.4160156 1.4111328 -0.022461 0.0051003 -0.008704
15| 14111328 1.4160156 1.4135742 -0.008704 0.0051003 -0.001808
16 | 1.4135742 1.4160156 1.4147949 -0.001808 0.0051003 0.0016447
(7 | 1.4135742 1.4147949 1.4141846 -0.001808 0.0016447 -8.2E-05
18 | 14141846 1.4147949 14144897 -82E-05 0.0016447 0.0007812

| 19 | 1.4141846 1.4144897 14143372 -8.2E-05 0.0007812 0.0003496

| 20 | 1.4141846 1.4143372 14142609 -8.2E-05 0.0003496 0.0001338
21 | 1.4141846 14142609 1.4142227 -8.2E-05 0.0001338 2.589E-05
22 | 1.4141846 14142227 1.4142036 -8.2E-05 2.589E-05 -2.81E-05
WA r HINomemeks { g Shout] {midpoint {pdfal fopwtang T Tt TS s
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2 A:(a f(a), B: (b, f(b)
I
C:(c,0)
B(a:=b), B:=C(b:=c¢)
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y— 1) =2 B (b

_f®)-f(@) _ f(@b-rf(ba

y

b—a b—a
X y=0
._ fb)a—f(ab
~ f(b)-f(a)
c b

a:=bh,b:=c



a, b

X2 —2

0



Excel (1/2)
1. a, b f(a),
f (b)
A c | b | |
1 |x 2-2=0
2
3 |a b f(a) f(b) c
4 10 -2 98
2. C
C
|=(D4*A4-C4*B4)/(D4-CA4)
3. a b b C
3 a | b f(a) f(b) c
4 0] 10 10 -2 08| 0.2]
5 |=B4 | 0.2 |=F4 08 -1.96 0.3921569
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4. f(a),f(b),c
A

B

Ol = W —-

C

0.2

0.3921569

aIrRlGIn ZIS ©ewolo &jwn =

0

10

0.2
0.3921569
3.5099338
0.8652912
1.1512813
1.4857852
1.4070774
1.414037
1.414214
1.4142136

b
10
0.2
0.3921569
3.5099338
0.8652912
1.1512813
1.4857852
1.4070774
1.414037
1.414214
1.4142136
1.4142136

f(a)

-2

98

-1.96
-1.846213
10.319635
-1.251271
-0.674551
0.2075577
-0.020133
-0.000499
1.263E-06
-7.89E-11

f(b)
98
-1.96
-1.846213
10.319635
-1.251271
-0.674551
0.2075577
-0.020133
-0.000499
1.263E-06
-7.89E-11
0

c
0.2

[ 0.3921569]

3.5099338
0.8652912
1.1512813
1.4857852
1.4070774

1.414037

1.414214
1.4142136
1.4142136
1.4142136



i c D E | F |
| 1 x"2-2=0

12

[ & |a b ¢ fla) fib) fic)

[ 4 0 10 5 -2 98 23
5 0 5 25 =2 23 425
| 6 | 0 2.5 1.25 =2 4.2 -04375
LT | 1.25 25 1.875 -0.4375 4.25 1.515625
[ 8 _ 1.25 1.875 1.5625 -0.4375 1.515625 04414063
| 9 | o rmmne R dnens ToAnme o ssRanen 0022461
(10| 1 2033691
L] 0889282
il?_ 1.8U0£0 1.992312D 1.92D/813 —UUZZ301 Uubsyzee v 0328522
EI:]_ 1.40625 1.4257813 14160156 -0.022461 0.0328522 00051003
[14 | 1.40625 1.4160156 14111328 -0.022461 00051003 -0.008704
[ 15 | 14111328 14160156 14135742 -0,008704 00051003 -0.001808
[ 16 | 14135742 14160156 14147949 -0,001808 0.0051003 0.0016447
[17 | 14135742 1.4147949 1.4141846 -0.001808 0.0016447 -B.2E-05
[ 18 | 14141846 14147949 14144897 -8.2E-05 00016447 00007812
_ 19 | 14141846 1.4144897 1.4143372 -8.2E-05 0.0007812 0.0003496
{20 ) 14141846 1.4143372 14142609 -8.2E-05 0.0003496 0.0001338
| 21 | LA141846 14142609 14142227 -8.2E-05 00001338 2.589E-05
|22 14141846 14142227 14142036 -8.2E-05 25B9E-05 -2 BIE-05
T T e L T o e T FT

A B C D E

1 x"2-2=0

2

3 a b f(a) f(b) c

4 0 10 -2 98 0.2

5 10 0.2 98 -1.96] 0.3921569]

6 0.2 0.3921569 -1.96 -1.846213 3.5099338
3 12
3 3

9 0.8652912 1.1512813 -1.251271 -0.674551 1.4857852

10 1.1512813 1.4857852 -0.674551 0.2075577 1.4070774

11 1.4857852 1.4070774 0.2075577 -0.020133 1.414037

12 14070774 1.414037 -0.020133 -0.000499 1.414214

13 1414037 1.414214 -0.000499 1.263E-06 1.4142136

14 1.414214 14142136 1.263E-06 —-7.89E-11 1.4142136

15 14142136 1.4142136 -7.89E-11 0 14142136



(0)
(c)

[ ] F(x)=0
(1) x2=-3x+10

(2) x3=3
(3) x3=2
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